Accessories

Type A

I Slide rail A6 (L=220) *For attachment holder A5-A6

Product name Slide rail A6 (L=220)

Part code
Weight

Material

6:
6 =
G

SLDRA6
50g
SPCC

L
200
i, 68 i 28 i 68
N N NN
R VAN 791 1
2X¢5.5 \ ¢6.5
Slide rail A7 (L=280) *For attachment holder A7
SLDRA7
GE
spoc
L
260
‘ 98 ‘ 28 ‘ 98 ‘ ’%
e AV.Nd RS ©’@
*\\ AN J Y e _J{Z
2X$5.5 \96.5 1
Accessories Type B
Slide rail B6 (L=220) *For attachment holder A5-A6
Slide rail B6 (L=220)
SLDRB6
548
sPcc
L
200
44 76 44
44 8,
1 ]
& i
& (] N Y Yol de
LN B PR (N PN ZR Ak
\2X$55 _2X¢p4.2 \616
Slide rail B7 (L=280) *For attachment holder A7
SLDRB7
656
SPCC
L
260
74 76 74
) 44 8
I — M
& —
« - HH—€ o o
A [e)] —
52 o ]
 2x¢5.5 2xp42 \e16

83



Accessories

Type C

84

Slide rail C

Recommended
mounting screw:
M5x10
*CAPM5—10RW

Slide rail C1 (L=100) Slide rail C2 (L=200) Slide rail C3 (L=300)

Weight

SLDRC1 SLDRC2 SLDRC3
43g 86g 129g
SS400 SS400 SS400

Slide rail G4 (L=400) Slide rail G5 (L=500) | Slide rail C10 (L=1000)

Weight

(16)

SLDRC4 SLDRC5 SLDRC10
172¢g 215g 4308
SS400 SS400 SS400
L
So %%e ﬂie 2X¢5
- i Y
q} ,,,,,,,,,,,,,,,,,,,,,,, ) ]

SLDRC type compatible slide bracket:

Slide bracket C-1 *SMC-1
Slide bracket C-2 *SMC-2

Slide rail C2(L=200)
SLDRC2

Slide bracket C—1
*SMC—1

Slide rail C2(L=200)
SLDRC2

Rail mounting bracket
(13X13)SRW—2

Vacuum pad
*VP30LS



Accessories

Type D

I Slide rail D1 (L=200)

—xX_

200 ‘
}10 20 18 55.5 28 555 ‘ ‘

LA
e
T
N
)
K
16|
26

I Slide rail D2 (L=250)

Product name Slide rail D1 (L=200)

Part code SLDRD1
Weight 71g
Material SPCC

Product name Slide rail D2 (L=250)

Part code SLDRD2
Weight 878
Material SPCC
| 250
1020 18 805 _ 28 80.5 ‘ ‘ 8
‘ 1 1 | | | \ ]
e N [ N Lolco
U TS VAN AR
2X 5.2 t=1.6
Slide rail D3 (L=300)
Slide rail D3 (L=300)
SLDRD3
102
SPCC
| 300
10_20 . 18 105.5 _ 28 105.5 ‘ ‘ 8
‘ 1 1 | | | \ ]
b N N ©|@
K AN VAN [ -~
2% 5.2 t=1.6
Slide rail D4 (L=350)
Product name Slide rail D4 (L=350)
SLDRD4
119
SPCC
| 350 ‘
10, 20 _18 _ 130.5 _ o8 130.5 ‘ ‘ 8
‘ 1 1 | | | \ [
e N [~ B wlw
K AN VAN | =
2% 5.2 t=1.6

I Slide rail D5 (L=400)

Product name Slide rail D5 (L=400)

Part code SLDRD5
Weight 131g
Material SPCC
‘ 400 1
10,20 18 _ 1555 . 28 1555 . ‘ 8
! 1 1 \ \ \ | [
b & N~ D @lco
*\ AN /NG 21 HS
2X 5.2 t=1.6

85



Slide rail mounting bracket

Accessories Mounting bracket for slide rail
Rail mounting bracket Rail mounting bracket (Usage example) 22?:21 entholder A6_P.37
17x17) (13%X13)
Rail mounting
M < Rail mounting bracket bracket
,ﬁ,,& \\ P.44 P.44
v 2 AN—W

Product Rail mounting bracket Rail mounting bracket
name (17%x17) (13%13)
SRW-1 SRW-2

7s 2%

Rail mounting Rail mounting
6\\ *SW-M5RWC

braCket braCKet Recommended mounting screw: M5X10
(17%17) (13%x13) *CAPM5-10RW

I Washer for rail

Washer for rail $6.2 5
AN-W —~f<2
Weight 9g For slide rail type A, B and D:

- S — Washer
SPCC

Recommended
mounting screw: M6X15

*CAPM6-15RW
*SW-MG6RWC

(117
113

32 28

3
’

No.6

No.5

No.4

I Rail mounting bracket I Rail mounting bracket I Rail mounting bracket

-

Product Rail mounting Rail mounting Rail mounting
name bracketNo.4 bracketNo.5 bracketNo.6 . .
Rail mounting bracket

SRW-4 SRW-5 SRW-6 (Usage example) NO.5

10g % 158
spcc sPcC spcc

*SW-M5RWC

Rail mounting 25 32
bracket No.4 1

W \ Recommended
K J mounting screw:
4\] M5x15 N1
M16(P1.0) *CAPM5-15RW &
Rail mounting Rail mounting E%il4mounting bracket
bracketNo.5 bracketNo.6 ' ~ B
2XM5
3XM5
{ g & %
Al o [ ———
5L 20 \ | |32 - [ bl Y |
30 5L 20 \ 20 \ |32 O @
Slide rail: 50 \,‘" -
Mounting bracket for type D Attachment holder: | I
IS AITET ele 21 Mounting bracket for C1 @

Mounting bracket for C3

86



